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QUESTION 1

Given the following SAS data set ONE:

ONE

COUNTRY CITY VISIT

USA BOSTON 10

UK LONDON 5

USA DALLAS 10

UK MARLOW 10

USA BOSTON 20

UK LONDON 15

USA DALLAS 10

The following SAS program is submitted:

proc sql;

select country, city, sum(visit) as TOTAL

from one

group by country, city

order by country, total desc;

quit;

Which one of the following reports is generated?

A. COUNTRY CITY TOTAL UK MARLOW 10 UK LONDON 20 USA BOSTON 50 USA DALLAS 20
B. COUNTRY CITY TOTAL UK LONDON 20 UK MARLOW 10 USA BOSTON 50 USA DALLAS 20
C. COUNTRY CITY TOTAL USA BOSTON 50

D. COUNTRY CITY TOTAL UK MARLOW 10 UK LONDON 20 USA DALLAS 20 USA BOSTON 50

Correct Answer: B

QUESTION 2

Given the SAS data sets:
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The following SAS DATA step is submitted:

What data values are stored in data set WORK.COMBINE?

A. Option A

B. Option B
C. Option C
D. Option D

Correct Answer: A
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QUESTION 3

Given the SAS data set WORK TRANSACT:

The following output is desired:

Which SQL statement was used?
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A. Option A

B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 4
The following SAS program is submitted:
%let lib=%upcase(sauser); proc sql;

select nvar form dictionary.tables where libname=\\"andlib"; quit;
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Several SAS data sets exist in the SAUSER library.

What is generated as output?

A. A report showing the names of the columns in each table in SASUSER

B. A report showing the number of columns in each table in SASUSER

C. A report showing the numeric columns in each table in SASUSER

D. A report showing the number of numeric columns in each table in SASUSER

Correct Answer: B

QUESTION 5

Given the following SAS statement: %let idcode = Prod567;

Which one of the following statements stores the value 567 in the macro variable CODENUM?
A. %let codenum = substr(andidcode,length(andidcode)-2);

B. %let codenum = substr(andidcode,length(andidcode)-3);

C. %let codenum = %substr(andidcode,%length(andidcode)-2);

D. %let codenum = %substr(andidcode,%length(andidcode)-3);

Correct Answer: C
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